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clicked

glide € secs to x: EEED v- €D
a5k bRt Gak kunnl and wait
set cat o answer

glide €J secs to x: @EED v: @) ask RrhETTETIRYGHEMEYNY and wait

set dog to answer

when I receive run broadcast run

glide ( dog  secs to x: 0P v: &)

glide ' cat  secs to x: @YY v:

1 dog < cat then if dog > cat '
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ask and wait

set nl to answer

ask and wait

set n2 to answer

ask ——

set operator to answer

ask RrraRtRs] and wait

set nl to answer

ask RaRELLEY] and wait

set n2 to answer

ask and wait

set operator to answer

if operator = then

nl + n2 for @ secs if operator : then

nl + n2 fnrﬂsecs
operator = . then

say nl - n2 for asecs
.\ operator =[] ~then

operator = then nl - n2 for 9 Secs

nl * n2 fnrasecs

operator = ~then

operator = then
nl * n2 furasecs

say  nl [/ n2 forasecs

else

say [EEUARUTEEET for € secs operator =[] ~then

say nl / n2 foresecs
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point towards mouse-pointer

move 9 steps
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